
x
2
+
x 2
+
12

=
14

sin
2 (x)

+ cos
2 (x)

= 1

a2
+
b2
=
c2

A
B
+
B
C
>
A
C

27
2

<
3x

2
<
21R

O

C

O R 2

H
C

H

H

C

H

H

H

∆
x∆
p≥

~/2

f(ω)
=

∫ ∞
−∞

f(x)
e
−2πix

ω dx

Φ(x
) =

1
√ 2πp

e
(σ−

µ)
2

2p
2

1)

−6
1

+

2
8

 =? 2)

 4 −7 8

−3 1 −2

+

1 9 8

6 3 6

 =?

3)
[
7

]
+
[
−5

]
=? 4)

[
−2 −2 −6

]
+
[
4 −9 −4

]
=?

5)
[
5 2

]
+
[
5 9

]
=? 6)


2 −8 3

7 −10 5

3 −10 −6

+


−6 −7 −6

−2 9 −9

1 −10 8

 =?

7)
[
8

]
+
[
1

]
=? 8)

[
−10 −3

]
+
[
−5 1

]
=?

9)

−7 6 −9

8 −5 −9

+

−4 5 −6

9 2 5

 =? 10)
[
3 4 −9

]
+
[
−9 8 −7

]
=?

11)


1

6

−10

+


9

3

−2

 =? 12)
[
4 −3

]
+
[
0 −9

]
=?

13)


2 2 1

2 0 −3

−1 2 5

+


9 2 −3

−7 7 −3

−1 −4 −2

 =? 14)
[
−2

]
+
[
8

]
=?

15)
[
−9 0

]
+
[
1 −7

]
=? 16)

3 −1

4 −5

+

0 −1

7 4

 =?

17)


−3

0

−5

+


3

−5

−5

 =? 18)


−6 −7

−5 2

−6 4

+


−9 −4

5 8

5 −9

 =?

19)
[
−7 −5

]
+
[
−7 5

]
=? 20)

[
−4

]
+
[
−8

]
=?

21)

−4 5 4

−6 −8 −10

+

−4 −10 2

−8 1 −2

 =? 22)


0

4

−8

+


−5

−4

7

 =?

cbnd Algebra 1 Follow us on social media g 7 ¡

https://www.mathplanet.com/
https://creativecommons.org/licenses/by-nc-nd/4.0/
https://www.mathplanet.com/education/algebra-1/
https://www.facebook.com/Mathplanet
https://twitter.com/Math_Planet
https://www.instagram.com/our_mathplanet/

